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Types

* Assembly Yield
e Control Yield
* Plan Yield
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Assembly Yield

0 Assembly Yield (AXT yield)

Assembly yield is an actual yield that captured from
production operation in MES system. The yield is an
average number by weekly with 13 weeks rolling data
regardless of Assembly sites.

Assembly Yield is supplied to SCP-Adexa planning module
for lot starts quantities for assembly.
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Control Yield

FT
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Control Yield (FT)

Rules

[1 System will gather data from MES on a weekly basis.
[l Data are in test step level

[l Data average over the last 35 lots or 13 weeks. For new devices
without data, it will default to 94%.

[l Data will be filtered out maverick lots per 6IQR limit from the yield
median (ignore the sample that lot yield < 1 - 61QR*)

[0 CTRLYId = W - 1.7G  whereas 1= Avg Yid and o = Standard Deviation

[l If the difference between current and previous calculation is <10%.
There will be no change.

(*) Interquartile range : IQR = Q3-Q1
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Plan Yield
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Plan Yield

Rules

[1 System will gather data from MES on a weekly basis.
[l Data are in test step level

[l Data average over the last 35 lots or 13 weeks. For new devices
without data, it will default to 94%.

[l Data will be filtered out maverick lots per 6I1QR limit from the yield
median (ignore the sample that lot yield < u - 6IQR¥)

LI Plan Yld
[0 0<0<2% :PlanYld=pn - 46
0 2% <0<3% :PlanYld=pn - 36
0 6>3% :PlanYld=p - 26

whereas 1 = Avg Yld and o = Standard Deviation

Ll If the difference between current and previous calculation is <10%.
There will be no change.
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Plan Yield vs Control Yield

(Avg) Actual Overall Yield

100.0% -

o0% M—M

90.0%

85.0%

0
80.0% Q30P Q409 wwl ww2 ww4 Apr09 ww5 ww6 ww7 ww8 May09 ww9 ww10 wwll wwl2

=@ TOTAL_Plan| 86.2% 89.0% 91.1% 91.2% 90.0% 90.8% 90.8% 89.7% 90.1% 90.5% 90.3% 89.2% 89.5% 89.1% 89.6%

el TOTAL_Ctrl 93.7% 93.3% 94.7% 94.8% 93.5% 94.3% 94.2% 94.1% 93.8% 94.0% 94.0% 93.8% 93.6% 94.1% 93.6%
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Yield Distribution

n 34749 n 36008
MEAN 91.46 MEAN 96.286
STD.DEV 7.3 STD.DEV 538
Yield [ #MPC| % Yield [ #MPC| %
>90% 23706 | 68.2% >90% 32872 | 91.3%
80-90% | 8863 | 25.5% 80-90% | 2419 6.7%
50-80% | 2063 5.9% 50-80% 520 1.4%
40-50% 54 0.2% 40-50% 73 0.2%
<40% 63 0.2% <40% 124 0.3%
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Yield Distribution
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Sample PI

an Yield (WW14)

9.0000
%Vield DECJ2TEZXAFC | GBAMTYATXV D1 |A7BT4TD4XB00 [A7BT 2T C2X400 |Y1ADIYFEXY 01 | GEAD2TJ 2400
Mean 0.74 0.79 09 0.52 0.8 0.59
STD Dev 0.27 0.16 01 0.07 0.05 0.01
Mean-SD 0.47 0.64 0.80 0.85 0.83 0.98

3.0000 Mean-250 0.20 0.48 063 0.78 0.78 0.97

: Mean-350 007 033 059 0.70 073 0.56

Mean-450 0,34 0.17 048 063 068 0.5
Quartile 1 0.66 0.72 0.86 0.86 0.56 0.99
Quartile 3 0.95 0.93 0.95 0.99 0.91 0.99

7.0000 1R 0.32 0.21 0.12 012 0.05 0.01
CTRLyd | 0.50 0.95 0.80 [ 0.56 [ 0.56
Flan yid [ 0.77 0.74 0.81 | 0.83 | 0.75 0.55

SD=0.05

6.0000

5.0000 / \

4.0000

SD=0.0)
3.0000 D% \
2.0000 5p=0.11
SD=0.16
1.0000
SD=0.27
0.0000 . : : : — : : :
0.0000 0.2000 0.4000 0.6000 0.8000 1.0000 1.2000 1.4000 1.6000 1.8000 2.0000
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How Yield Works in CM

4

Note : 100%yieldKUPD

HPK, = (Testtime + Index time)

MTAI Test
ACCESS Yields

IE

Capacity

DB

(

#Sites*Site Eff*UtIn*3.6

nth root of
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Plan Yield of each MPC will feed
Into CM as a cumulative yield.
CM will split cum yield equally to
all test steps (use n® root of).

For example

DEEC2YRS5X010, Flow:FQFQFQ,
Cum vyield = 95%

Yield for each step = 95% =98.3%
FT1, cum yield = 98.3%

FT2, cum yield = (98.3%)2 =96.6%
FT3, cum yield = (98.3%)3 =95%

HPKn = (Testtime + Index time)
#Sites*Yld *Site Eff*UtIn*3.6

KUPD,, is areverse of HPK,
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Why using cumulative yield

Step FT4

Step FT3

Step FT2

Step FT1

———> QOut=100 units

RT3 Cumulative yld=57.55%
IN=174units >|FT1|FT2 [FT3 | FT4
{100/57.55%) 87.12487.1% | 87.1%) 87.1%

oom +
IN=115units | FT4

(100/87.1%)

IN=132units
(115/87.1%) OR

(100/(87.1*87.1%))

IN=151units
(132/87.1%) OR
(100/(87.1%87.1%87.1%))

X |s7.1%

R7.1%

FT4
87.1%

Qut=100 units

> Qut=100 units

| FT2
87.1%87.1%

FT3

FT4
87.1%

> Qut=100 units

IN=174units ___
(151/87.1%) OR

SR | ]
87.1%(87.1%

FT2

FT3

FT4

87.1%

87.1%

————————> 0ut=100 units

(100/(87.1*87.1*87.1*87.1%))
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Yield feed to SCP

100%KUPD

AXT YId = 51.8%
(Assy yld=90%, Test yld=57.55%)

IN =193 units >
(100/51.8%)

Assy | 572 | sT2 | FT3 | FT4
o | 87% | 87% | 87% | 87%

IN=193 units __|

(100/51.8%) OR

(100/(90*57.55%))

oom +

¥

(100/87.1%)
100%KUPD

IN=132units
{115/87.1%) OR
(100/(87.1%87.1%))

——> QOut =100units

IN=115units___|FT4

" fs7.1%

—————> Qut=100 units

87.%KUPD

=3 > Qut=100 units

76%KUPD

——————= Qut=100 units

66%KUPD

> Out=100 units

57%KUPD

100%KUPD
IN=151units = ST2
(132/87.1%) OR | 87%
(100/(87.1*87.1*87.1%))
100%KUPD
IN=174units .| ST1
(151/87.1%) OR 87%
(100/(87.1*87.1*87.1*87.1%))
100%KUPD
= i 5T1 | 5T2
ASSY |——> Out =174units :PSJLLIIQ;?R —— *| g79 | 87%
90% 100%KUPD {100/{87.1*87.1%87.1*87.1%))

FT3 | FT4
B87% | 87%

> Qut=100 units
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Flow of Yield to Adexa

MTAI Test
MTAI Test
€s / IE / Yields

Access Vields > Capacity
----- \ DB \
y
Assembly

Assembly yields

! yields

Subcon Test
Yields
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How Yield Works in SCP

Yield will be factored into SCP when it figuring out the lot start quantities.

Example : Demand 1 202703 _8 of quantity 6000 for product C5BG4TC8XA00
(Assy Yield = 99.14%, Test Yield = 89.8%)

ASSY LOT
Assy Yld ASSY
DEMAND 99 14%

WIP LOT

(6682 +0.898)
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ierarchy

= 1_202703_& (G000
=] CEEGATCEX AN _WVWHSE_WIRTLAL ¢(SO00MO00) (From the loop)

= L101279 (B000ME0000 (Work Order 101 279)

E CSEG4TCEAND_TEST_MT Al (GO00ED00T (From the loop)
= L104280 (BOOOMGO00) (Work Order 4 04 2800

CoBEATCEAN0_STRIF_TEST_MTAI (BEES2MB652) (From the loofp)
& PATAIOTY 2151472 200 (00030000 (hATAIOT 2151472 .200)
=1 L1012581 [(3652,3652) 0Work Order 101 2517

= CEBEGEATCSAQND_STRIP_ASEY _MTAI (3652535652) (From the loop)
=1 L101252 (36582,/3652) 0Mork Order 1012820

=1 TESBEE41 01 EXT _ASSNY _MTAI (37 145353714) (From the loop)

= L1012583 (3714537140 0vork Crder 101 2*3)

Sl CSEG41 01 KEXT_DE_MTAl (53714557147 (From the loop)
A TMPESS3474995 . 000-C5EG41 01 XEXT-DE_MTAI-RIULL-25-0OCT-04 (3714/22556] (L

al B Aol b M @OV P P [
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Thank you
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